
147 SANA (HN)-O 1

PART - I

SANSKRIT -" HONOURS

PAPER - I

Duration : 4 Hours ] [ Maximum Marks: 100

Candidates are required to give their answers in their own words as Jar as practicable.

The fiqures in the margin indicate Jull marks.

UNIT - I

(Marks: 20)

1. Write short note on anyone of the following: 1 X 4= 4

2. Define and illustrate any two of the following: 2 X 4 = 8

3.

l1Tft;RT, $~Cf'ill, CffH1fctZ1Cfl9" ~dfqZ1fkld9, I

Scan and name the metres in any two of the following : 2 X 4=8

. a) fucf 4 ;:fhn f{ ~ ¥f'l-f CRJ: I

b) "f ~ Gi?r tI';;U<lqit\ll9, I

c) rn ffiZ1ICfl4Z14Z1Ch &41Z11~ljf~;;'<;:l{"

d) ~ Sl<tiR1 fu d I~ -qrf$:J: I



4. Join in Sandhis any four of the followtng: 4 X! =4
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VNIT-U

(Marks: 40)

7JWT + ~ , "ffil + lIDfl\, mq + ~ ' ~ + 3WRf:, R: + ~, lJ:ft + ~,

.n + 3l8J: I

5. Disjoin the Sandhis in any Jour of the following :

1:JCR11., ~:, ~, 1t?fClt(l:, ~:, <§~: I

4X!=4

6. Account for the case-ednlngs in any eight of the followingunderlined words :
8X!=8

a) ~URfu

b) Wl: CRfu I

c) f~~1

d) ~~: UC{UT:

'1lR=i Ol/ Ict1<oll:l'm"ije) I

~I@lil qfhll\l1ct1:f)

g) ~ c:rrfu 7:Jfu: I

~ ~~Ilid 'CfiT11:h) I

i) ~~:

j) ~~I

~f"1~lid~:k)

1) ~ ~ Not \lfT1Tlt
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7. Distinguish between any four of the following words :

a) ~ and~

b) 3lm and 3l${q

c) ~ and~
d) -;:ftffi and ';ft"&

e) ~and~

f) ~ and~ I

4 x 2=8

8. 4 X 2=8Name and expound the Samasas in any four of the following:

"5f~8:Pt EFWlIlq:, 1e.lqIQctl:, ~~, flflIcHe.1, 9)0llQIQ,{ I

Correct or justify any four of the following:

a) ~ctlle::tnIjQclflf~ ~'qan:
b) , ~ f?lct1:q1: I

c) ~e.lll(1i ~~ -4f~
d) m m: I

e) flqH4«!~1oi q'l{CR"'{l

f) "l1Q fo J1~ 15:*1):0" fJi e.111'{ I

9. 4 X 2=8

..•.

UNIT-m

(Marks: 30)

10. Translate into Sanskrit and write in Devanagarf script. 15

a) A miser saved up a chest full of money, buried it in the ground and went

secretly each day to look at it. His workman happened to see him. That

night the workman dug up the chest and stole it. When the miser came

to look at his money, he saw it was gone. He began to cry. A netghbour

saw him and said. 'Why are you crying? You never did anything with the

money. did you? Go and look at the hole where it was. What's the

difference 1"
OR

..



b) The character of good men is like that of a tree. The tree stands in the

rays of the sun. Still it gives shade to the travellers standing beneath it.

The wood-cutter may strike at its root, but it never withdraws its shade

from his head. Its branches afford shelter to many birds. Such is the

character of good men.
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11. Translate into English: 15

a) ~1:;;fl'1CflI~ -CJTBftfCfl'1141 ~: ~ I ~ 'B: ~: -m Bl1

d4fll'1<fl4ll'iij~ I -qrif 'B cxn~ fcla,<;:qcfi ~a:1014q~q~ I fl~'Cl(flI fcp~l~'1

~ 0ll11lZ'11~ I W -:q ~: ~ I ~: 00 ~ ~:"& -:q ~ ~:

~~: I ~ilSifl~'1I~~:~: m: ~C'i\ICfl~qolCW1 ~ f.:rrffi:

OR

b) Cfif~~:~: ~~ dqlfq~l~ I ~ C!a}q~f<14If1 q:;<.1I~Cicf~ I ~

~ ~ ~ I l1t 'B C!~ (flf.f ~ '11~1Cf'11~I ~ m «rtl ~
CfRU: ~ ~:~: I 'B Cflfdf1:ls;QZ'1I'1IGrQ,Cfffifrl ~~ W~ I

CfffiT: ~: CflIf.:tf1:l~ 'hC1I;:(OjCif1:l~~ -gfu mf~ I cr<&: ~ dl;:(OjIGI~

3l~~'TG: I

12. Write an essay in simple Sanskrit on anyone of the following: 10

UNIT-IV

(Marks: 10)

a) (lC[ ftr:J: 'Cflfc:J:

b) Pi1l41jCiFctdi

d) CitlfCflIZ'1:


